1.  This river enters Haryana riéar Kalesar forest 11§ -ﬂaﬁmawﬁazﬂmﬁﬁwmt
(A) Ghaggar, (B) Sahibi . o wwm @ afedt
(C) Markanda (D) Yamuna E (C) ST (D) I
2. If&=-'JQ§—-.thenJ1_+;+JlTa_=? 12/ 2. ?Iﬁa=—2—.??le+a+Jl-a=?
ST s e
&) 3 ® = ‘@ (a) 3 | 9=
” () 2-3 (D) 2+43 ) 2-V3 (D) 2+43 :
< a ‘VA train running at the speed of 60 km/hr | 3. % YT 60 kan/hr 1 R A 9 T € | I
> rosses a pole in 9 seconds. What is the |, wﬁaﬂgﬁﬂﬂmmﬁ%,?ﬁiﬂﬂl@ﬁ
=2 Qinslhﬂfthetﬂi“?' / Q- Gard Ry 7
(A) 180 m (B) 324 m }3 45% (A) 180m (B) 324 m
(G- 120 m D) 150m HO ’,éf (C) 120 m (D) 150 m
% “Which of the following Institutes of Haryana 4. wam Pr=fefae ﬁ_% fora aeA 1 AW
5 has been renamed after former Finance e VT 3 G fore Wt 3707 Sttt & A W
— Minister of India Arun Jaitley ? @ 7
w _D {A) National Institute of Design, (A) mm ;Eipnq’ HEHIEE
Ahmedabad Pl
h (B} National Institute of Financial ®) Wq ﬂmm (w TH ),
: Management (NIFM), Faridabad .
T (C) National Institute for Education and (C) me T wfe
M Vocational Training, Karnal ",
5 }‘\ ’ (D) None of the above (D) I 4 A wr A€
5. Highest ranking in Indian Police 5. v gfe # I 1
(A) Director General of Police (a) e mefides
( p{j‘{P{B] Superintendent of Police (B) gfer s
1 ¢y (C) Inspector General of Police (c) gfem mEfdies
; > (D) Deputy Inspector General of Police (D) gfere Ioweles .
K 6. zh:f:;scl is ﬁ:led mv:;ms l:;t;:d, B gl of | 6 WHEHTHEWIR R 3O sk
are water s syrup. How
1 much of the mixture must be drawn off and 5 NI ml i & frmn fiso
replaced with water, so that the mixture FrepTerat T I e
Q may be half water and half syrup ? g anfen fivsron & amen gt s smen dRe
A L ® L TR ?
@ . S, AP @ + ®) +
&) © 1 1 4 5
a B = _L 1 1
3 Tap a4 1 D) =
7. Which b 5 = S &
L C o 2 +
of %ueaggnmuféi?“m come in the place | 7, v iy & TR W FA-H v M 7
120, 99, 80, 63, 48, ? 120, 99, 80, 63, 48, ?
(A) 38 (B) 3g (A) '38 B e e 39
e (O) 35 (C) 40 g{ 35

B [ l ~ \ '
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8. Y is the brother of W; X ia the daughter of
W; E is the sister of Y ; Z is the brother of

X. Who is the Uncleof Z ?
(A) X B E
IC) W (D) None of these
9. Haryana Police was formed in the year
(A) 1974 (B) 1970
(C) 1966 (D) 1968

10. When area of cross-section of a pipe
increases, the velocity of flow of the liquid

(A) Decreases (B) Becomes zero

{C) Increases (D) Remains the same
11. According to Food Safety and Standard
Regulations, 2011 of which ameng
following statements is correct with
respect to standardized milk ?
(A) Milk should contain standardized to
fat minimum 4.5% and sclids-not-fat
A minimum 6%.
A - (B) Milk should contain standardized to
fat minimum 4.5% and solids-not-fat
/ ©) mi.nim%m ulﬂcis%.
- Milk should contain standardized to
fat minimum 3% and solids-not-fat
J minimum 8.5%.
(D) Milk should contain standardizad to
fat minimum 1.5% and solids-not-fat
minimum 9%,

12. This famous personality is known as the

creator of Rock Garden, Chandigarh
(A} Chhotu Ram {B) Dayal Sharma
(C) Neki Ram (D) Nek Chand

13. Number of
figure is

\
T

(4) 20 v {B) 19
(C) 18 (D) 16
is a process of retrieving,

deleted, corrupted and lost data from
secondary storage devices.

(A) Data decryption (B) Data recovery

parallelograms in the given

14,

the I#

(C) Data discovery (D) Data mining
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}
ﬁ B Kk &Y
s. ,v_»;wmﬂ;xg?ﬁﬁ?; Y # 7 8,

z. mr!?ni%lf Gl Ik

Ww® T @mE

) W (D) 578 & IS 7E

g, gﬂ'ﬂ'rungl%aa'ﬁ 7 a1 S

(A) 1974 (B) 1970

(C) 1966 (D) 1968

72 Torelt aTST =1 FwiE-HevE ORET ST SIET
2, @ 7@ & ware &

(A) =&t (B) YA & STt

(C) Fh (D} FAH

ar g 3R A fafiaeE, 2011 F sER
wnaﬁlﬁgm%ﬁﬁﬂﬁﬁm%ﬁaaﬁéaﬁq—m
?

10.

11.

(A) 39 F W= F9T =Fad 4.5% 3R F61 R
IHIAN 6% E |
(B), 8 % AT W1 ~[AaW 4.5% 3R 7@ Faw
39 AT 8.5% B |
¥ A =8 =an 3% i aa
AT 8.5% B |
m)wﬁmﬁmml.s%aﬂzam
S A 9% B |
12. uaxr&lamﬁr‘aaﬁa;méq, 3
bt 2R & Pk
(A) B T (B) et st
(C) It 1 (D) ¥% 7

18, ﬁngﬁaﬁmimi@jaﬁaﬁﬁmi

| \\\\\\\

(€

"

(A) 20 (B) 19
(C) 18 (D) 16

14, ﬁhﬂe}h%m:aﬂﬁshzﬁ
Eﬁmmhﬂﬁgq:mmﬂ&
() FeT Fefpoe 321ttt B
(C) T femitt :g; %aqwﬁqm

B
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15, W@ AR ¥ g go Pl § 1| R 4

16. 1 haévc a few sweefs to be di#u{buted. Il :
keep 2 or 3 or 465_*:_; a pack, [ am Jeft with 21 31 4 U e 1 Taa §, 7 W I lﬂ_f'ﬂf
1 sweet. If | keep 5 in a-pack, 1 am left aa?ﬁtlﬂﬁﬁfiﬁhiﬁmi:é! hL
with none, What is the minimum number @ ot 7l B | Pl &Y =g aen |
of sweets | have pack and distribute ? AR R RamatAR?
(A) 25 (B) 54 (A) 25 B) 54
(C) 37 (D) 65 (C) 37 (D) 65
16. Find the missing terms in the given 16. 2T H@en § g W I Jd He |
SOX. JaV, MBT, 2, 32 o o e e
(A) Q16R  (B) P16R (A) QL6R (B) P16R
(C) N645S (D) P8S (C) N64S (D) P8S
17. InwhichofthefollowingdistrictsofHaryana | 17. Freferiies & @ efamn & e e & Lol
pilgrimage destination “Gurudwara Nad 2 i
Sahib" is situated ? i i sl
(A) Karnal (B] Sonipat il (B) Wi
(C) Panchkula (D) None of the above (©) TaFe (D) 35 5 & r§ el
. A_______ is a record of information | 18. 5 1 0% fid 8 5 orfiretyr me
that most servers collect by default and is % T wwia F@ ok ST &
often accessible from the hosting company B F 1 32T By v m forg
or Internet Service Provider (ISP) for the ﬁmt I S (ISP) ﬁ“ﬁfi
site.
(A) Root File System (A) ¥ W fivem
(B) Cascaded Style Sheet (B) FTEHES WIEe ¥ie
(C) Boot Record (c) ¥ fid
(D) Server Log (D) FECEM
19. Fowl Cholera is caused by 19. WId Hiel TR R |
(A) Pasteurella multocida (A) IVELET weeifier
(B) Salmonella pullorum (B) ST REky
(C) Vibrio cholera (C] TR Fiem
(D) Paramyxo virus type 1 () Yerftrt amgT 2y |
20. Oxidation state of oxygen in OF, is 20. CJF;ﬁ HTFAIH A Iy T
(Al-+ 2 B -1 y b (A) +2 (B) -1
(C) +1 0 -2 ° ¥* (@4l (D) -2
21. Warrant means 21, FCF YR
(A) An arrest order issued by the Court (A) =TT T W Rt e
(B) An order to appear as witness (B) m#mﬁmmmm
(C) A notice to appear before the Court (C) AT ¥ T W B wy A
(D) An order to produce the evidence (D) HTE WA A 1 3mimy
3. Current microprocessor speed Is 22, T AGORECR TN o s h
(A) Kilohertz (B) Megahertz (A) I IiEiIlEi (B) ; "‘ﬁ
(C) Nanohertz (D) Gigahertz (€ ¥ (D) Hrmeest
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23. ngenaPolicchassnccialwomen helpline | | 23. mgﬁmmm\ummma
number ' Badic : - ' ;
{A) 1021 (B) 1011~ -J(ﬁ) 1021 - (B 1011
(C} 1051 [D{]/lﬂgl (C) 1051 (D) 1091

24. A fruit seller had same apples. He sells 24, @mﬁm%m@;ﬂat | 40% 89 a4
40% apples and still has 420 apples. ¥ =g 39H 9E 420 3 B & |r@|‘5‘1ﬁ
Originally, he had " ok da 4 ?

Yo (A 600 &l (B) 672 ¥

(A) 600 apples__[B) 672 apples ﬂ:i 4|
() 588 apples. (D) ‘i?_quplcs qu | (C) 588 EE (D) 700
q Y weel __ Fsa W T F

25. Web page- files use the o &\ .
file name extension. %v{( & a(q‘si‘ ma;{d‘\‘t |
-, 5
(A) -is

(A) Js \ W
(B] .HTM or .HTML %K‘ (B) .HTM I1 .HTML
(C) .doe

{C) .doc
(D) .jpeE (D) .jpeg

26. Thz:lga.tﬁn Shanno Devi Panchayati Raj | 26. e R T 96 T & qi:;ﬁ T
Award by Haryana Government is given to quET ¥ fom m FA
those women Panchayat leaders who have %= WS .
done exemplary work for the. el g TR ﬂ'a'laﬁ | ﬁiﬂ s ® | !
(A) Female literacy (A) Tt HIET
(B) Health and nutrition (B) TaTea 3K
(C) Empowerment of women (c) At FufaEw

(D) IFal

(D) All of the above
rding to the early Tamil Literature | 27. i afte afes (WTII ’!J‘!ﬂ) * aqgaﬂnﬁi

7. Acco
4\ the lar
. .::] Vellalar (D) None of the above (C) Seier {g: ?‘ﬂqjﬂﬁ%ﬁﬂ
D sy | 8, YR
. B (4 Distal filration rate TR |
@4 (B) Glomerular filtration rate Al T P .
{C) Proximal filtration rate (B) (@W) e
(D) Henle's loap filtration rate :g; 0 fraig = e
T [P
or his crime. ' A %0 Y & =R
(A} 7 years (B) 12 years e a1y 3 for 2R i o e |
©2lyears (D) 18 years g b I ®) 1273
30, Which of the following States of India é ' D) 187
g ool lndinctun | 36" e # & ws % v vou o7 21
(A) Telangana (B) Kerala [:m'_" + WA T e R ?
(C) Haryana (D) Maharashtra (€ e (B)
(D) WO



31. [If the largest 3 digit number is subtracted

from the smallest 5 digit number, then
the remainder is
[A) 9000
(€) 9001

32. In a certain language, MADRAS is coded

(B) 1
(D) 90001

as NBESHT, how is BOMBAY coded in
that code ?
(A} CQOCBZ (B), CPOCBZ
{C) CPNCBX {D) CPNCBZ
33. Choose the correct alternative that will
continue the same pattern and replace
the question mark in the given series.
1,9,25,49,7?, 121
JA) 81 (B) 91
¢ (C) 64 (D) 100
34, _%ind the missing number in the
table given below.
A 3 | s]w] 2?3t
w9 6 | 56 |90 [ 2 ]20] o
NG (A) 5 B3
* (C) 2 % o) 7

% 4
- 35.

India’s first grain ATM h;u been set up in
(A} Mysore, Karnataka

(B) Kochi, Kerala

m}/ (D) None of the abave

p| 36. Inwhich of the following places of Haryana

\ 0/‘ State Government recently started the
T Project Air Care’ to combat rising air
— pollution ?
/0 (A) Kurukshetra (B) Ambala
(C) Gurugram (D} None of the above

37. Who was defeated by Babur at the battle
of Khanwa in 1527 ?
(A) Hasan Khan Mewati
(B) Harshavardhan

(C) Jatwan
(D) Gopal Singh
] ?ﬁ; .
38. A man had 17 sheep. All but nine died.
. Howmanywashelehwith?
e D) 17

CFES - 81
31. aR 5 3% 6 gad oA we A & 3 FH A
o w2 e ) T g, v fren Em 7
(A) 9000 (B) 1
(C) 9001 (D) 90001
32. G g Wi f MADRAS 132 NBESBT
%, 3w = & BoMBAY 1 $8 Feag F01 7
(A) CQOCBZ (B) CPOCBZ
(C) CPNCBX (D) CPNCBZ
33, & faen i we e & wm oA - den
gt i wjeren ol @ w7
1,9, 25, 49, 7, 121
- wel (B) 91
BRAC) 64 (D) 100
SR N3 &y e g S
BERIAERIEDW
6 | 56 ]9 | 2 | 20| o
(A) 5 (B) 3
(€) 2 D) 7
38, A WH QAW F
v R 8
) fr, e
;):%i,iﬂa
(C) !Bltq“"
m}gr;%ﬁﬁlﬂ
6. & i v vy R 3 Preffea §3
. R T W AG 9T WA WO A F
m*ﬁﬂum%ﬂt'mwt?
(A) o8 (B) &Ml
(C) T Ek B kL
a7, 1527 8 G ¥ 7@ A A Rl ?
(A) T TH
(B) ¥
(c) weal
(D) Thura fe
| mwERmTE 17 g (iAo
- T | 37 vadh e
"9 i
© D) 17




41.

was L full ?
32 2
(A) S5mins  (B) 45 mins L4 "‘"1
(C) 12mins (D) 32 mins o
'_,..-H"
2. What will come in the place of qucstiuw
mark ?
AZ, CX, FU, ?
(A) JQ B) IV
&1 IR (D) KP

' 43. Haryana Police has wireless repeater

44,

is restricted to a small
geographical area, usually to a relatively
small number of stations.
(A) Wide Area Network (WAN)
(B) Metropolitan Area Network (MAN)
(C) Local Area Network (LAN)
(D) Internet

Shyam Satsai is the camp_qsitian of
(A) Deedar Singh ‘

(B) Santokh Singh

(C) Tulsi Ram Sharma

(D) Mohammad Sarwar [ . .

The flowers in a basket double every
minute and the basket gets full in one
hour. In how many minutes the basket

antennae at
(A) Takdi hill (B) Sarahan hill
(C) Tosham hill range (D) All the above

If Sunitha is taller than Seema and Reena.
Reena is shorter than Radha and Gowri,
Bina is taller than Radha and shorter
than Sunitha. Sunitha is not the tallest
and Reena not the shortest, then who is
the tallest ?

(A) Seema

(C) Data inadequate

(B) Gowrl
(D) Bina

is defined as the structure of a
website and its pages : how the site and
the site navigations are organized.

(A) User experience
(B) Wireframes
(C) Information architecture

r1or e o

(D) Mock-up

CFES - 81
39. w 3R Jifes &3 @
Hifir gt &, GT=rA: e 412 RIH] 9%
fEme |
(&) T8 T F2ae (WAN)
(B) Eiehied i Jzadk (MAN)
(C) Srer Tfem Fza% (LAN)
(D) §eTe

(40, WHETES FIETE |
(A) ¥rem fire

I (B) WarE faw

(C}M'ﬂwnﬂ

@ (D) R¥TZ HTER

41, T det # @ 59 W & e @ o 8t o
tidwst s R F wam | e e o
ﬂaﬁﬁéﬂmmm?

(&) 55 firre (B) 45 fiFfe
() 12 e (D) 32 fire

. A R ¥ R @ 7
AZ, CX, FU, ?

(A) JQ (B) v

(©) IR (D) KP
Fﬂ:msmﬂﬂmamﬁm_
wR|

(A) T TR
(C) TNM YEa vt (D) IEw ot

IR , W sl e @ &+ 2 ) O, Twn
i T @ 2 R, i, e @ o st @
DA R, e et et 7T & ok e v 9
e, e aae !

(A) EieT (B) it

() dtwe s € (D) Fn

____ W O qmune I wE
Te31 3t wraT 6 W givfi
e & : W e 3l wmE Afre
anfea g 8 |

A) Tt

([ra] ?u&q

(C) FRitYH anfear

-39

(B) B YETE



Consider the following
statements about Pran Vayu-
Devta Pension Scheme (PVDPS)
of Government of Haryana.

1. it is an initiative to honour all those
trees which are of the age of 75 years
and above and have served humanity
throughout their life by producing
oxygen, reducing pollution, providing

shade, etc.

11. Such trees will be identified throughout
the State and these will be looked after
by involving local people.

Choose the correct option from given

below.

(A} Only the statement 11 is correct
(B) Both the statements | and il are
correct
|C) Only the statement | is correct
(D) Both the statements 1 and 1l are
ncorrect

47. The total number of seats won by Congress
Party in 1984 Lok Sabha elections

(A) 435 (B) 453
(C) 451 (D) 415

48. Which part of the Human lungs. provide

surface for the exchange of gases ?

(A) Alveoli (B) Diaphragm
b1 (C) Bronchi (D) Bronchioles

Substitute the correc

symbols for # in the foﬂo:dn’gn:ctiﬁi?::? .
16+4+5+14+6
IA, s . -

(€) + - = x

[B)#-I-:-
D) + x = 4

Bee-sting leaves an acid which cauges

pain and irritation. Use of g mild base

like
% relief, o the stung area gives

\ (A) Baking soda (B) Le
b (C) Milk ctmagncsia. (D) Vinees >

'\\« 1. Chhachhraull is known as
Haryana.

oA New vork
el .}\_\ (C) Texas

\(-3s
4 \kﬂ‘@o

(B) Cherrapunji
(D) Agra

——-—-.._._Df

47,

48,

\b 2
fs‘*f_

B
7€
-

B1.
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46, ehamn R ) WO arg e T A
@mgqﬁqa)aaaﬂﬁﬁn%ﬁ‘aﬂmﬁﬂ

fEm Rt |

1. a8 3 o 3t At wefiE F0 AT
g B, 3 75 ad 3l R il g &
& S aHiao 91 SR T, T A
&, BT WS F SAa WL
wiaal BT R |

1. 0 g8t A R T A e A weh
g A ) e Fh T ETTe
= st |

it & & ad fasea g |

(A) Fae wuA 11 e R

(B) 13% 11 3T o weh &

CRESECCIE R

(D) 1 38R 11 At wew e €

1984 wrwav gral # Sl 7@ g Sid
Fa de
)

(A) 435
(C) 451

e FES H BH-T vm A ¥ e ¥
o 5 3uerey o d 7

4353
415

(A) (B) B%M™
(C) (D)] FlEoie: |
Tt e i « %
w@mmrﬂmm*m
1‘:)4'4-5- 14+ 5

- X 4= + 4+ =
€C) + - =x [(g=+x=+
e & FEd | ww o orer o @ R
Wlhsmemedit | R
I3 SR T ITAIT R Y T RO a1 § |
(&) #fdm drer B) M =™
€ tffmwgw (D) R
woleh #t sfaon =
wea |
(A) gt (B) Jrdah
(C) TweT (D)

CIE

1
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3
52. If ACNE is coded as 3, 7, 29, 11, then 52. IR &%"E““ F2 3, 7,29, 11, 7 BOIL F
BOIL will be coded as (A) 5, 31, 19, 25
5,29, 19, 25 194, 19, (B) 5, 29, 19, 25
© 501,225 (O] 529, 18,27 ©5.31,21,25 @) 5,29, 19, 27

S3. In this year the campaign of Beti Bachao- | §3. ¥ e § 3 e Tt
Beti Padhao was started in Haryana s
(A) 2014 (B) 2013 (A) 2014

(B) 2013
(C) 2015 (D) 2019 (C) 2015 (D) 2019
54. How many days will be there from 54. 26 ¥79{ 1988 & 157 1988 (1 o wnfirey
26" January, 1988 to 15* May, 1988 T ) 7 ot )y wE fre 2t 7
(both days included) ? i (A) 110 (B) 112
A) 110
E(:] 111 (D) 113 (C) 111 (D) 113
S5. The First Ancient Olympic games were SB. YU AN SNl &t 9 i R & 7
held in
(M 7T76CE  (B) 1992 CE (4) $a1 776 (B) ¥ 1992

(C} 776 BCE (D) 1972 CE

(C) g 776 (D) $&1 1972
56. BN TS gitw i §

S6. Haryana State Police shall have
(A) State Crime Investigation Wing

(A) T 39y it Ry
(B) Both (A) and () B) (&) 3k () 3t
(C) State Intelligence Wing
(D) None of these i s
(D) ¥ & =¥ 7
57.
?goz?:nthc odd one oyt 57. wEg Rm s g |
(©) Zeb {5) Tieer (A) I B) T
B S (©) Fm (D) T
¢ EWIng-gum firg" ; i -
i B S & Symptom of 58, mﬁ:{q G o
(B) Parvo Viral Enteritis Y WUERE
(C) Canine Diatt‘:mper ®) ;:_'?Iﬂ feerm
(D) None of the abgye :3 — N ﬂ:ﬁ?ﬁ
59,
i
e et e | i m et
o anengy " PEteen compuerg P i gt e
| (A) A 8y . WA | AT A
’ C) A h;?:;:g *ton () 4 Protocal (a) Rt =)
€ (D) A port (c) ¥eirm M
60, The light enterg q&=A Q;Wﬂm
membrane ﬂrucl'ur:' g'i: ﬁ?ﬁﬁl:l a thin | 60, m qm E et Fed & |
A) C o it o
r(ci e B) Optic nerye (A) FH@ O "
(D) Reﬁna (©) (@) B
-
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- w41 1 HSita
61, In a spreadsheet, everything is stored in | 61. mﬂa&ﬂm B2

. ;. ' :
littie boxes called = & EAE
Fie™ ) 7
(A) Columns 9 Ol e f‘-%iﬁm} D & &
(C) Rows (D} Banner “
_ e 62. efRRd & . mEE w8 1
62. The SI unit of resistivity is A) fa aim why e
(A) Per ohm per meter :B}
(B) Ohm izt
(C) Ohm meter ([;: ﬁ o i
(D) Ohim per meter yorerel) wataror & 3et s wata @ R wwn
d vironment in the | 63, e
63, Ecology I8 Te e Te relied to ot wfim |
(A) History N e (A) il
s (D) Hormones (C) Sfarm (@)
(C) Foss )
gewn Suraksha Sahyog' is the motto of 64. Bl FA wEEm — e R 1 it
64 Police Department. a k|
A Maharashtra (B) Gujarat . (A) HERT (B) T
A} o}
|C) Haryana (D) Jharkhand 73 : (C) m (D) ¥Es
65. 1fp>qandr <0, then which of 65, AR p>q3Mr<o, A Da-m
the following is true ? Rl
Al p-r<g-r (B) pr>gr Al p-req-r (B) pr>aqr
(C) pr<gqr (D) none of these (C) pr<gr (D) Gﬂ 3 ?:'('g el
66.  Which of the following States has become | &6, mmnmmﬁﬁmwaa
kerosene free State based th AT ﬁqma
g:ggr of ?Pmﬁam:ntmy C!:;:nm?tt::ce;r: - u: Th 7 3R I T i
cum \
(A) Haryana (B) Both (A}and (C) (A) ftamem
(C) Punjab (D) None of the above (C) e (‘2; ;%?ﬁl%-?jﬁ
67. What is the main obi tive of i s
jgovid *Sanjeevani Pariyojana of the | O TR WX B Bfez-find e
(ayana Government ? AR RIE ?
' e Or supervised and qui Ty Hifas
Eﬁdlt:a] careat home) clyatgrp‘z?pcit S ﬁ:\ﬁ% 19T % 1k & e
rural areas with mild to moderate iy ﬁl{ﬂ'{mqﬁiﬁa 3
- ;J;m;rt;;nds oﬁ&m&g disease i e e wam =
e d-19 vaccinati i
the people residing both rura) and Bf T2 % e fc et 2t T Jwet
. urban areas of the State ?ﬁ’ﬂﬁw?ﬁrﬁalgﬂmwmm
(€} To provide free Covid-19 vaccination to (C) T % et aeior a3 13w i
¢ people residing only in rurg] areas '
of the State W FRR-19 Ao wer =
Nuneofmeabove (D) Eﬂﬂﬁﬁﬁi?@f

68. How many total number of
s paryana Legislative Assembly (Vidn, | 5 S 1 R v gt e i 8 7

g 5 (A) 77 (B) 90
(C) 94 (D) None of the aboye (C) 94 (D) 3% A & Fd 7l

~10-



69. The price of Sugar is increased by 25%,
If a family wantg tq keep its

expenses on
sugar unaltered, then (he family will have
to reduce the consumption of sugar

(A) 21%

(B) 22%
(C) 25% (D) 20%

(A) Grandmother
{C) Grandfather

Full form of BPRD is
(A} Bureau of Police Research and
elopment

ERE (B) Batch of Police Research and
%I Department

=% 1) Board of Police Research and
Development
(D) None of the above

(B) Grand-daughter

(D) Daughter
71,

72. A projectile having initial kinetic energy
60 J is projected at an angle of 45° with
the horizontal. What is the kinetic energy
of the projectile at the highest point of its

trajectory ?
(A) 60 J (B} 304
(C) 454 (D) 154

73. Young rabbit which has attained the

marketable weight is known as

(A) Fryer (B) Pelt
(C) Fur (D) Kit
74. Memory used by your PC's video system
is known as
(A) Flash Memory (B) Cache Memory
(C) Virtual Memory (D} Video Memory
75.  The sum of the Place values of
3 in the number 503535 is
(A) 60 B} 6
(C) 3030 (D) 3300
76

Choose pair of numbers which comes next.
2! 44! 4! ) L] L] ]

% 41,6 :38‘8 jr;lén
(A) 35, 1 . [B) 34, 9

(€) 10, 12 .;:1 (D) 35, 32
{£

-

70.

71

72.

73.

74‘

78.
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. 'ﬁhanmzs%aawtm&ﬁ{mm

ﬂtuﬁﬁﬁ;mmmt.a\mw

i I A meg reft w2 wch v 7
(A) 21% B) 22%
(C) 25% (D) 20%

A,Biﬁimtlc.mauﬁn%m,cw
ﬁmtm.naﬁ!mt.?ﬁa,oﬁmm
i

7
(A) Tt (B) e
(C) Tr D)
BPRD %1 7of &9 §

(A) 0 3% Sferw P afv Admie
(B) &< 311 qfera foaed oo fearive
(C) W2 31T gftra fred afve Bremive

(D) 3o | A % 7l
AR 1o 31 60 0 a1 v wR =
3814 45° % 0 A 0 vl P |
TR S8~ 3 e g e )
FoFR?

(A) 60 J B) 304

(C) 454 D) 15J
Bt Wit R i o R
& wwemd) -

R ) fire

o it ¥ i fem zm%m‘m #
ST A9 FEIAR |

(A) worm T (B) Fu Ay

(C) SFaret AW () et i

3 dea 503535 3 % v wR A
Tt 7 oo

A) 60

:c} 3030 (D) 3300

7%*7%%@'

51

2; 4‘4‘1 4‘1 411 61 38' 8"

(A) 35, 10
(C) 10, 12

(B) 34, 9
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Q. -
83. Nili-Ravi is a breed of
ol (A) Cow (B) Goat
‘ Q (C) Water Buffalo (D) None of the above
/
i 4, As per Transport of Animal Rules - 1978,
: the maximum distance allowed for cattle
in a day while transport on foot shall be
b/ (A) 20 km (B) 45 km
g "ﬁ& (C) 30 km (D) 40 km

77. Shri Tarlochan Singh awarded Padma
Bhushan - 2021 in the field of

78.

@
?/

e

79.

B0O.
S5
.\

%
/!

{A) Civil Service (B) Medicine
(C) Public Affairs (D) None of the above

va goes 30 km towards North from a
E:it;gd pgo‘mt, then after turning to her right
she goes 15 km. After this she goes
30 km after turning to her right.

How far and in what direction is
she now from her starting point ?
(A) 15 m East (B) 20 m East
(C) 10 m East (D) 30 m East

is any kind of unwanted
software that is installed without your
adequate consent.
(A} Malware
(C) Firmware

(B} Utlity software
(D) Spam

A boat can travel with a speed of
13 km [ hr in still water. If the speed of the
stream is 4 km/hr, find the time taken by
the boat to go 68 km downstream.

(A} 3 hrs
(C) 2 hrs

(B) 4 hrs
(D) 5 hrs
81. Which district of Haryana is knawn as
the hub of making durries’.?

(A) Panipat ' (B) Bhiwani
(C) Gurugram (D) Hisar

2. Choose the alternative which

resembles the mirror image of the given
combination.

GEOGRAPHY

(A) YHPASIOOED X

(B) YHIARGOEG ¥

(C) YHIAADOHD

(D) YHPARGOEG

CFES - 81

77. o fie e 8 ow1 2021 3
g for man 7
B) Afsfm

() fofw afda
(D) 35 & & Ff T

(C)

i1 G 9 W R 30 km I ) AR R,

fipt o% and gE 15 km W ], TEE 9% T
1 §ZR 30 ken WA § | 37 TE 39 Yo
T @ foreet gt offt e R @ 7

(A) 15m & (B) 20 m &

(€) 10m (D) 30 m @
Tt oft w1 SraiTeT aiweaT § St
an vt wenfy & frn e g e &
(A) e B) gRfeiR wiweaar
(C) wHa (D) ¥w

T | ¥d S ® 13 km/hr 0 @ gE R

wwa ® | R aro R 4 km/he 8, TR
fean & 68 km T % 19 Y ForeEr awg @i 7

78.

79.

&
B k}gﬁ% e X;,,p.

B (A) 3 hrs (B) 4 hrs
<28 (C) 2 hrs (D) 5 hrs
81. wfwon w1 - foren ‘=0 T W ' oww
EiGIE
(A) Tt B) frarh
(C) eI (D) femm
82. 8 frerea iy =it R o s 3 do il
¥ fremm tﬂlﬁq
GEOGRAPHY
(A) YHPASIDOED
(B) YHIARGOEG
(C) YHIASIDOED
(D) YHPARGOEG
83, rel-TrE Lk ch 4|
(A) T (B) W
() ¥ (D) 3o & & =
84. Y Yiae Fram -1978 % srEm,
tem aiEs % AR o fam H uyg
¥ o witwm gt
(A) 20 km {B) 45 km
(C) 30 km (D) 40 kam
«12-



nammad Ghori defeated in

" ,:: second battle of Taraori.

(] brahim Lodhi ,
(B) Akbar %’%2
|C) Babur o
(D) Prithviraj Chauhan

. Select the odd word from the given
alternatives.
|A) Flower (B} Tree
(C) Herb (D) Shrub
§7. Anas platyrrhynchos is commonly known as
(A) Chicken (B) Duck
(€} Turkey (D) Quail
88, The most distinctive feature of Harappan

cities is
ﬁ\ Carefully planned roads
(o

Carefully planned drainage system
Planned buildings
Carefully planned agriculture
89, If the day before yesterday was Thursday.
when will Sunday be ?
(A) Today §vse
(B) Day after tomorrow ~ 2y
{C] Tomorrow
(D} 3 days after today
Habeas corpus means
(A} What is the authority to continue in
{ the office
(B] Produce the body before the Court
(C) Perform public duty
(D) Stall the proceedings

Modulus of elasticity has the dimensions
same as that of
{A) Power (B) Pressure
(C) Energy (D) Torque
932, Haryana Police is headed by
(A} Home Minister
(B) Education Minister
{C) External Affair Minister
(D) Health and Welfare Minister
The LCM of two numbers is 48. The

| numbers are in the ratio of 2 ; 3. Find the
sum of the numbers.

(A) 64
(C] 28

91,

(B) 40
(D) 32

D "::qy
TR R

1 oy

213 -

85.

86.

87.

89.

91.

93.

2l
&?r -13-
N 7
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rirgee | 3 aas & gE e A i
e

(A) FEITER S

(B) HFaT

(C) 9T

(D) gedit= e
ﬁqmﬁmﬁiﬁﬁfﬁﬂmﬁgﬁm

(A) B3 (B) %

(C) T (D) #TE!

e SRfER R AR FEa |
A (B) qvd

(lc:a:z:ﬁp (D) IR

weo & wgil ) gad frfing R @

wravTEE fraifm a9
églmmmm-ﬁmm

D)
2 @ 70w A TEs W A TR, @
feEm &= w7

() TS

(B) T aT8 Fe = A & %ﬁ
(C) ¥ aTE HA 55
(D) 3= A 3 AR '.

wd) weaedrontor 3 and R

(A) TIATETE 3§ ¥ 161 & foTg WU 0 8
(B) =l & =TT & ane I9feuE s

(C) BrEAfE wden 1 fredex :

(D) T &1
TERIGE] & Wi = HEm
A g |

(a) T (B) ==
(c) F=i (D) T
e gicra w0 i d

(A) 778 WAt

(8) fham =t

(c) form wift.

(D) T TE weam v

2 el e 48 % | 3 g

2 : 3 % 3 1 §, A 37 gt = am
A |

(A) 64
(C) 28

(B) 40
D) 32



34, Who among the following is the second | 94. Wﬁﬂﬂ?m ﬁﬁ&ﬂﬁiﬂm
woman to De India’s External Affairs qgﬂwﬁlﬁl ot 7
B M it (c) 3ren et (p) Tt HIIE

(A) Sushma Swaraj |
(C) Indira Gandhi (D) Geetha Phogat

|owing statements are frue 95. mzhna;aﬁiﬁaﬂﬁmi‘-?

95. Which of the fol o enC  idon
aboutthe functionso ection Commi
of India ? , | g e el el G
1. It supervises the p}l:eparahon of e Fwiel .
up-to-date yoters' list. AT wd grof AR F@TE |
1. 1t prepares the Election schedule. . el =1 wraT e g |
1. 1t gives recogaition to political . T ) e 71 R
parties. Iv. 98 F‘gy qqrd 1]
v. it can postpone or cancel the election gohdl 8 |
in the entire country. (A) e 1, 1 3 IV
(&) 1L, 1M :nu? 1‘:10515' (B) et 11 3 1M
1l an only
10’1 1, Tt and IIi only (C) %= 1, 11 3T 1L
(D) All the abave (D) I
96. '___Tw‘i”nas t.h:.dfg‘a:nlndian & g 96. mﬁﬁﬁiﬁﬁ@qﬁﬁnﬁm
woman am -
Paralympic games. @@ areh W wigen ot |
(A) Sarojini Gupta  (B) Deepa Phogat (a) TR T (B) B e
(C) BTET AT (D) 2ran wfeAH

(C) Saina Nehwal (D) Deepa Malik

97. Choose the best alternative. 97. i frea w9 |

3:11::7:?2 21 -8 B R
w291 29 @18 (A) 29 B) 18
N ::51. g: D) 22 (C) 51 D) 22
. Excessive irrigation with dry climatic | 98. ERCic| ] whemom) # s
regmn’s.[Punjab and Haryana) leads toihe E | %ﬁ m ) *
de?oumon of salt on the top layer of the ﬁmgw et WWWEEI“T e
soil. In sgch cases farmers are advised A ﬁ‘qﬂzﬁ #
to add which of the following minerals to H T T * ferg zﬁ“ﬁ = Frafafaa #
l::ivccuthr:r]:;ohlem ;:g )sajim'ty in the soil ? - vl o e ) o e & el € 7
um Calcite A) FIEH Feame
(C) Gypsum (D) None of the above :c]) foream :g} I A A T
99, Haryana Armed Poli i
o — ed Police has bﬂt.tahons at 99, MM WS&TH*T FerferaA qel
(B) Sonipat (A) Tea=
(C) Ambala i T (B)
(D) Bhiwani (C) FH=Ten (D) frarht 08
___ statesthatat i
| \;lsuvma:_; pressure of a ﬂ;cgonr:t:tﬁt of 100 a sl Mg i =
- et with s o, T W, ra e Frutfa wm
o B Basion' i perature. 1 2 TS T 3 AT wfeafaa g § |
R % [BirBoyle's law () =Ted  frm arae =
‘! (‘ vogadro law (D) Gay Lussac's | (B) bl
_ ) aw ) we frw (D) T g B |
B L) ? ’( T . s 3



